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The ES idea is lo determine

the time at which the EV
accrued should have occurred. %
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Time based schedule performance efficiency: SPI(t) = ES / AT
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—Rework% —Duration Increase% SPI(t) —Rework% —Duration Increase% SPI(t) —Rework% —Duration Increase% SPI(t)
20% 20% 20%
N 1.2 1.2 1.2
15% 1.1 15% 1.1 15% 1.1
1.0 1.0 1.0
10% \ 09| |10% ' - o9 [10% 0.9
\ 0.8 \ 0.8 0.8
5% ~ 5% 5% BN
\ 0.7 \ 0.7 \ 0.7
0% t 0.6 0% t 0.6 0% 0.6
0.6 0.7 0.8 0.9 0.6 0.7 0.8 0.9 0.6 0.7 0.8 0.9 1.0
P-Factor P-Factor P-Factor
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Rework | 16% 13% 10% 7% 4% 1%
rvalue | .9769 9728 9625 .9698 .8443 5454
2 # 68 38
Level of Significance (a) 0.10 0.05 0.01
Critical Value (df =7) 0.584 | 0.666 0.798
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Rework Rework% Models
—16% —=13% 10% —T7% —1% —1%
£k 16% DI%, = 0.3284 — 0.1927 ~ SPI(t)
20%
13% DI%,, = 0.2773 — 0.1599 ~ SPI(t)
16%
Duration ., 10% DI%,, = 0.2217 — 0.1272 " SPI(t)
Increase
8% 7% DI%, = 0.1445 — 0.0725 ~ SPI(t)
4%
4% DI%, = 0.0849 — 0.0424 " SPI(t)
0%
0.60 0.70 0.80 0.90 1.00 1.10 1.20
SPI(t) 1% DI%, = 0.0380 — 0.0212 " SPI(t)
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( (#
Rework% Models
16% D1%,,=0.3284 — 0.1927 = SPI(t)
13% DI%,; = 0.2773 — 0.1599 " SPI(t)
10% D1%,, = 0.2217 — 0.1272 " SPI(t)
7% D1%- = 0.1445 — 0.0725 " SPI(t)
4% DI%, = 0.0849 — 0.0424 ~ SPI(t)
1% D1%, = 0.0380 — 0.0212 " SPI(t)
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10 / y = 1.2068x
' r=0.9932
0.00 1 | l
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Level of Significance (a) 0.10 0.05 0.01
Critical Value (df =5) 0.669 0.755 | 0.875
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